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AS55: Graphing Rational Functio
Notes: 27.1/27.2/28.2 Rational Word Problems & Transformations

The Summer Camp Problem
A summer camp is open for 5 days and wants to charge its campers exactly enough to cover all the costs of

running the camp. It costs the camp $2400 per day to pay for its rent, employees, insurance, and equipment.
a. What is the total cost to run the camp for the 5 days?

21400 (5D = [*125000

b. Write an equation that represents how much each camper should be charged.
X = Yotal # of Cowmpens \ ZOC)Q

U = & chavged par camper 54 5 \{
c. The campers will eat three meals a day and each meal costs $3. Adjust your equation (from part b)
to include the cost of meals. : ~
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d. The camp is allowing 30 campers in for free. Adjust your equation (from part c) to include the

campers that are going for free. 2000 +4Sx »j/
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g camper have to pay if a total of 500 campers end up going?
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_e. How much would each payi
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Rational Transformations
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Ex #1: Graph the function, then state the domain and range | 9 |
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Key Features of SquareRoot Graphs
How is the horizontal translation (left/right)

related to the domain and the vertical asymptote?
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What do you do if there is a number multiplying the x in the de
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